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10 B2 SH U SHE A A AE A H| 150,000 150,000 0
OSIJIEHNE X & 150,000
== AMY 2,934,822 2,757,070 177,752
J| 1,467,411
& 1,467,411
307 gizto| A 2,934,822 2,757,070 177,752
J| 1,467,411
& 1,467,411
02 QIZFA AAIE E X 2,934,822 2,757,070 177,752
O2stMEssAg 2,934,822
J| 1,467,411
o= 1,467,411
S MaA eSS (=XH) 187,500 161,229 26,271
308 AMXISHMSOIA 187,500 161,229 26,271
01 IXHHIMNEEXTZ 187,500 161,229 26,271
OEXNES3HEE 22 H K& 187,500
MBS AFS 547,750 535,500 12,250
= 313,000
= 234,750
308 AHXIEHSOIA 547,750 535,500 12,250
= 313,000
o=t 234,750
01 AIXSHMENMNEX= 547,750 535,500 12,250




A= 2o FHE= PN 2aRAD
Hu: MERARMAMANNREHL
??: 2AMESXH CEE-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
O M2 THAH 547,750
= 313,000
< 234,750
SN2 HEEAS 649,500 619,050 30,450
= 433,000
= 216,500
308 XXM SOIA 649,500 619,050 30,450
= 433,000
< 216,500
01 X HHBILEES 649,500 619,050 30,450
Oa0t=ss =83 A 649,500
= 433,000
< 216,500
AHFAQI= ALK& 18,735 16,511 2,224
2 16,600
< 2,135
308 XX EHHSOIA 18,735 16,511 2,224
2 16,600
< 2,135
01 HXNHHBHELS 18,735 16,511 2,224
OXH R A QI SSALX R 18,735
= 16,600
< 2,135
ZotHOrH ZZ2 ) A 600,000 675,000 AT75,000
2 400,000
< 200,000
308 XXM SO0 A 600,000 675,000 AT75,000
= 400,000
< 200,000
01 IXNHHBHNEES 600,000 675,000 AT75,000
123 THOF &t ALY 600,000
= 400,000
< 200,000
HSAMAZSTHE S A 192,000 184,500 7,500
2 128,000
< 64,000
308 XXIEHHSOIA 192,000 184,500 7,500
= 128,000
< 64,000
01 XML EES 192,000 184,500 7,500
OdSAA2STHEEAS 192,000
= 128,000
< 64,000
NEE2stReW= 100,500 0 100,500
J| 67,000
< 33,500
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308 X EHSOIA 100,500 0 100,500
J| 67,000
< 33,500
01 HIXNHHBHNEELES 100,500 0 100,500
OXNE2stsan=s 100,500
J| 67,000
< 33,500
LE2SMAA 2,125,030 1,339,580 785,450
= 1,162,000
< 963,030
PEESMANAZF=E 15,630 15,630 0
201 L4 3,650 3,650 0
01 At 22l 3,650 3,650 0
pt==Hl 3,650
OFEE}MANIFIMNIEZH S 3,650
202 o4dl 11,980 11,980 0
01 = LH 4 Hi 11,980 11,980 0
ORI MR =X A 11,980
PEEIME S 589,500 525,000 64,500
308 XXM SO A 589,500 525,000 64,500
01 IXNHHBNEES 589,500 525,000 64,500
RS2 MSHBAMX 110,000
OfREEIMERNSAE 379,500
OREEFIMESMAR 82,000
OetsXHE =0l S AHI X & 18,000
drns2tHE 1,430,000 754,000 676,000
= 1,100,000
< 330,000
403 XA SA=0l& 1,430,000 754,000 676,000
= 1,100,000
< 330,000
01 HXSHMA2E X 1,430,000 754,000 676,000
OZFREEsNHANS2AGE XA 1,300,000
= 1,000,000
= 300,000
OsHEs0ldcnSASEIHNESXE 130,000
= 100,000
S 30,000
drns2S8dot K& 89,900 44,950 44,950
= 62,000
< 27,900
308 MtXIEHMSOIH 89,900 44,950 44,950
= 62,000
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o2 HE= PN 2aRAD
HEERMANMARZEE 2
SAMNIHIL AR 2L (SH9 &)
- _ — d =
RRA B BN NRAY - BES 0l &k o4 e HlnE2
= 681,000
< 87,557
HAHSAEELEZAS (SIS AOIE) 669,500 513,500 156,000
= 515,000
< 154,500
308 A EHSOIA 669,500 513,500 156,000
= 515,000
< 154,500
01 HIXNHHNBMNEELS 669,500 513,500 156,000
OMASMSELEEAY (S 2ALAONS) 669,500
= 515,000
< 154,500
S EJATTLEZANLEHE 1,950,000 1,300,000 650,000
= 900,000
=) 1,050,000
403 UtXISHH S A0l & 1,950,000 1,300,000 650,000
= 900,000
=) 1,050,000
01 XS M A=2EE 1,950,000 1,300,000 650,000
Jst==s A+ UL SALAY 1,950,000
= 900,000
< 1,050,000
HAHASAEESEARI AL (Jt0FDER) 78,000 26,000 52,000
= 60,000
< 18,000
308 MtXIEHSOIH 78,000 26,000 52,000
= 60,000
= 18,000
01 HXNHHBHELS 78,000 26,000 52,000
OHHAROUEESSARXNJAG (Ot0kD22) 78,000
= 60,000
< 18,000
HARMBESSARXNIAAMG (SI2AMA) 80,000 32,000 48,000
= 80,000
308 XX EHSOIA 80,000 32,000 48,000
= 80,000
01 HIXNHHBMNEES 80,000 32,000 48,000
OMASUEESSARTIAG (BH=2AME) 80,000
= 80,000
AetAttH St E e s A Y 25,000 0 25,000
308 XXM SO A 25,000 0 25,000
10 B2 S 3AHAE A 25,000 0 25,000
A CHAFS R ALSE = I &1 = 25,000
EeCIE PN S PN L) =) 4,256,200 2,874,500 1,381,700




A= 2BBAS= FA ZetR e
FM: MNSEFMAMAZTEE 2
Sl RHRABBIRNY GO
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Al 3,204,000
=) 1,052,200
2oRAEEINH 91,000 47,500 43,500
308 AHXIEHHSOIA 91,000 40,500 50,500
01 HXNHHNBMNEELS 91,000 40,500 50,500
Odsgisiisdegdegszz Ny 30,000
Ouagd=anddsd 12,000
ORIFULHNIGMEIZ OB 14,000
OSOISMARDSNES Y2 35,000
N2t M (2S) 1,625,000 1,625,000 0
Xl 1,250,000
< 375,000
403 A X EHHS =0l A 1,625,000 1,625,000 0
Xl 1,250,000
< 375,000
01 X SHHA2E= 1,625,000 1,625,000 0
OSSAHNIANAL=SJ (RS 1,625,000
Xl 1,250,000
< 375,000
NS 2stAME (L) 1,820,000 130,000 1,690,000
Xl 1,400,000
= 420,000
403 X SHHSA=0l& 1,820,000 130,000 1,690,000
X 1,400,000
< 420,000
01 X SHMA2E X 1,820,000 130,000 1,690,000
OLELDNEESEa SR ELSEAAE (X
E&Hl) 1,820,000
Xl 1,400,000
< 420,000
KNS 2ot AN (A 590,200 0 590,200
X 454,000
= 136,200
403 Ut SHHSA=0l& 590,200 0 590,200
Xl 454,000
< 136,200
01 HXHMA=LE X 590,200 0 590,200
OZ&AHE =R HHMEX I (XIS EHI) 590,200
Xl 454,000
< 136,200
NS 2t MM (2 3) 130,000 0 130,000
Xl 100,000
< 30,000
403 MtXISHHE X201 & 130,000 0 130,000
Xl 100,000




M ox
40 5 4
MO 2 MO

st == 2N 23R
SZAFMAMAZTEE 2
St 22 TR

= - — SHE|
SA B E(BH) - NN - BYS e Hl D= 2t
< 30,000
01 XM A2E X 130,000 130,000
D238 AMN=EEH(XSZH]) 130,000
Xl 100,000
< 30,000
SUADAMARLSHFE 358,000 380, A 22,000
IO 2 2 NA R LS TH =2 228,000 300, AT72,000
308 XXM SOIA 228,000 300, AT72,000
07 IXNSHH2AURE = 228,000 300, AT72,000
LI 22 MAIRMESSSHE=A 228,000
St NEANAR LS = 80,000 80, 0
308 XX EHHSOIA 80,000 80, 0
TAXNEHBEEXS 80,000 80, 0
SHEAMBRUADMARLUSIHZ=Z 80,000
SIS X SE2tALS 50,000 50,000
308 XXM S0 A 50,000 50,000
01 HIXNHHNBMNEES 50,000 50,000
SSUIHA ALY 50,000
AMBIAEZANEZH 6,415,286 ,634, AN 1,218,857
= 500,000
Xl 4,820,000
< 1,095,286
AMNDHSESTAIZHE 5,851,000 ,851, 0
Xl 4,820,000
< 1,031,000
403 MtXISHH S =0l & 5,851,000 ,851, 0
Xl 4,820,000
< 1,031,000
01 XM A2E X 5,851,000 ,851, 0
OZFAAMNSIAAIZLE (NS ZH) 5,851,000
Xl 4,820,000
< 1,031,000
SXNRFNHESZ L2 Z2HEXA 564,286 , 783, A 1,218,857
= 500,000
= 64,286
403 XIS E X201 & 564,286 , 783, A 1,218,857
= 500,000
< 64,286
01 XXM 22 = 564,286 , 783, A 1,218,857
DS OI0IRIRIIAY 564,286
= 500,000
< 64,286
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A 2o2ZAH=E2 PN 22AEN
My pEUANLRE
Chel 2eloetxry (&)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
< 54,000
OXRDME0RPEYSATHE(ER)(NSEZHI) 234,000
Xl 180,000
< 54,000
COSEIS MO S22 UHASAIYE (2 2) (NS 2l 650,000
Xl 500,000
< 150,000
Oz ddAH B4 (0 ) (NS ZHI) 650,000
Xl 500,000
< 150,000
OSs2dMENE TS (Ss) (RS EH) 1,950,000
Xl 1,500,000
< 450,000
Ogdsia2Uastzd(88)(NSZH) 975,000
Xl 750,000
< 225,000
Ogddsis2Z s (8s) (NS EHl) 295,100
Xl 227,000
= 68,100
O&IANURLAIZZTNIANL (2 E) (NS =) 1,000,000
X 1,000,000
COONEAHIOH2Z X ZHAIL (S E)(NEZHI) 650,000
Xl 500,000
S 150,000
EH =48 22 XH 2 OH & 260,000 260,000 0
Xl 200,000
= 60,000
403 A X EHHS 20l A 260,000 260,000 0
Xl 200,000
= 60,000
01 X ESHMA=E L 260,000 260,000 0
OBSM=sMYEHIS (I ) (NS EH]) 260,000
Xl 200,000
= 60,000
LA HAGHS RSS2 (W) 270,000 1,930,000 A 1,660,000
X 270,000
403 X SHH S =0l & 270,000 1,930,000 A 1,660,000
Xl 270,000
01 AXSHMA=2E X 270,000 1,930,000 A 1,660,000
OadaotsHzZ2 (HE)(ASSY) 270,000
Xl 270,000
AFE=MBBHNZ(YF) 435,000 292,000 143,000
Xl 435,000
403 UtXISHE X201 H 435,000 292,000 143,000
X 435,000
01 X SHHA2E= 435,000 292,000 143,000




A3 23RBS SN 2RUED
Hu: pENANLHE
Chel 2eloetxry (9 ® =)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o %Ei HR=2
BEETE P I EESOEEST) 435,000
Xl 435,000
AU SNENES(EF) 1,115,400 0 1,115,400
N 858,000
= 257,400
403 XX SHHS K20 & 1,115,400 0 1,115,400
N 858,000
= 257,400
01 MXHHE2E = 1,115,400 0 1,115,400
O&XUSNEIS(NESY) 1,115,400
Xl 858,000
= 257,400
ETSZOHUHM A RS 1,657,500 0 1,657,500
Xl 1,275,000
o= 382,500
403 XX SHHM S X201 & 1,657,500 0 1,657,500
Xl 1,275,000
o=} 382,500
01 XIS AS2E X 1,657,500 0 1,657,500
0|t AEZ2LXZILAMY(AZ)XNEZH]) 130,000
N 100,000
& 30,000
O tUHMARS(SE ) (XS EH]) 32,500
Xl 25,000
= 7,500
OO Z2 =2 22 R/ASHAIYE (DE ) (KN EZH|) 130,000
N 100,000
& 30,000
OSUotE i tMEfEZ XL (S )(NETH|) 1,365,000
Xl 1,050,000
= 315,000
Z2MAIHESS LM E X 1,300,000 0 1,300,000
Xl 1,000,000
o=} 300,000
403 XX SRS R 20| & 1,300,000 0 1,300,000
Xl 1,000,000
= 300,000
01 AXESHIE2E X 1,300,000 0 1,300,000
O=2IMAHSELHEHR(RNESTY) 1,300,000
Xl 1,000,000
& 300,000
HOF2t2Z X 22| 1,806,700 3,111,880 A 1,305,180
Xl 810,000
J| 631,000
== 365,700
HOtR2pg YR 7,500 9,300 ~1,800




A= 2o FHE= M 22X EY
M AZNAMLES
Sel: HOr22 X222 fEH)
- _ — d =
SN P SAGEH) - HRAY - BYS e HlnE2
201 ¢er24| 3,000 5,000 A 2,000
01 At 22l 3,000 5,000 A2,000
O Yet==2H| 3,000
OOFSEMITAN N =F 3,000
203 YR =&l 4,500 4,300 200
03 AIEZ=AH 2 =AH| 4,500 4,300 200
CHOH2ZNL LR 4,500
HESsS2ENAS(NE ) 224,200 216,000 8,200
Xl 190,000
< 34,200
403 XM SA=0l& 224,200 216,000 8,200
X 190,000
< 34,200
01 HIXSHMA=2E X 224,200 216,000 8,200
OdsSss22 A (HES) (NS EH) 224,200
Xl 190,000
= 34,200
SesAZ2 N (MEEZ20Y) 207,000 207,000 0
J| 180,000
< 27,000
308 XXIEHHSOIA 207,000 207,000 0
J| 180,000
< 27,000
01 X HHILEES 207,000 207,000 0
OdSss2Z NS (MEZZOY) 207,000
J| 180,000
< 27,000
2t 2O H X & X 156,000 0 156,000
X 120,000
< 36,000
403 MHXSHHSA=0l& 156,000 0 156,000
Xl 120,000
< 36,000
01 XM A=E L 156,000 0 156,000
OZZOHEXEHEXILINES (NS EH) 156,000
Xl 120,000
< 36,000
I EEEH 650,000 1,950,000 A 1,300,000
Xl 500,000
< 150,000
403 XSS A0l & 650,000 1,950,000 A 1,300,000
Xl 500,000
< 150,000
01 AXISHHA=2E = 650,000 1,950,000 A 1,300,000




A3 23RBS SN 2RUED
Hu: pENANLHE
S HOr22 X 2e (SH9: &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OXsIBEEIL(ZE)(NSEHl) 650,000
Xl 500,000
< 150,000
O ZOIMAMAI LN E =R ALY 302,000 378,080 AT76,080
J| 251,000
= 51,000
403 MtXISHHE X201 E 302,000 378,080 AT6,080
J| 251,000
< 51,000
01 AXSHMA=2EE 302,000 378,080 AT76,080
OOt S A HAI LN E=ALS 302,000
J| 251,000
< 51,000
OIS EE LT X JAAY 260,000 162,500 97,500
J| 200,000
< 60,000
308 MtXIEHSOIH 260,000 162,500 97,500
J| 200,000
< 60,000
01 HXNHHBHELS 260,000 162,500 97,500
OorgEedstZ2 T2 AY 260,000
J| 200,000
< 60,000
W= AMY 132,899,955 171,763,909 A 38,863,954
Xl 116,727,000
=) 16,172,955
SHEALRFA 25,200 21,500 3,700
201 ¢et24l 10,200 10,200 0
01 At 2t 2l 5,200 5,200 0
O get==2H| 5,200
O 2L RFURASHNES 5,200
03 ALZ2 I 5,000 5,000 0
O3HEHMSRAISHZ 5,000
202 044l 10,500 7,000 3,500
01 = LH o4 1l 10,500 7,000 3,500
D32t MEERFE 0L 10,500
203 ¥ S =&l 4,500 4,300 200
03 AIHF=XH 2 =AY 4,500 4,300 200
O3 EBMEFE 4,500
=2t 22 EAEY 5,428,571 1,428,571 4,000,000
X 3,800,000
= 1,628,571
308 XX EHHSOIA 5,428,571 1,428,571 4,000,000




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

Al 3,800,000
< 1,628,571

10 B2 SUHUeBAHAE A 5,428,571 1,428,571 4,000,000
OISt ZZEHUEAL(ANSEL) 5,428,571
Xl 3,800,000
< 1,628,571

JIOFFHAIZETHE WA H TR 3,345,086 2,257,143 1,087,943
Xl 2,964,000
< 381,086

403 XIS E X201 & 3,345,086 2,257,143 1,087,943
Xl 2,964,000
< 381,086

01 AXSHHMA2E = 3,345,086 2,257,143 1,087,943

OJIOFRAAREWS HH AN (DY, &=

JXESY) 3,345,086
Xl 2,964,000
< 381,086

S 2010F2ILtet 4,768,214 0 4,768,214
Xl 4,225,000
< 543,214

403 XIS E X201 E 4,768,214 0 4,768,214
Xl 4,225,000
< 543,214

01 XXM 22 = 4,768,214 0 4,768,214
Ogs2oloitet(IssY) 4,768,214
X 4,225,000
=) 543,214

SO AGHOFZHI SR 9,827,600 1,128,571 8,699,029
X 8,708,000
< 1,119,600

403 UHXISHHSA=0l& 9,827,600 1,128,571 8,699,029
Xl 8,708,000
< 1,119,600

01 X ESHHMA=LE L 9,827,600 1,128,571 8,699,029
OgoactorzHI 22 (A& )(NESL) 9,827,600
Xl 8,708,000
= 1,119,600

HNARDEH 23 S3(2tsS) 15,800,000 1,128,571 14,671,429
Xl 14,000,000
=) 1,800,000

403 XSS A0l & 15,800,000 1,128,571 14,671,429
Xl 14,000,000
=) 1,800,000

01 AXISHHA=2E = 15,800,000 1,128,571 14,671,429
OMASNEH2asd(¢s)(NESY) 15,800,000
Xl 14,000,000
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| =) 1,800,000

NARDEH 23S (S35 4,514,286 0 4,514,286
X 4,000,000
< 514,286

403 Mt SHHSA=0l& 4,514,286 0 4,514,286
Xl 4,000,000
< 514,286

01 HIXSHMA2E X 4,514,286 0 4,514,286
OMAsuAb2stsd (83 )(NSEY) 4,514,286
Xl 4,000,000
< 514,286

S22 HOtI A (S S) 7,900,000 1,128,571 6,771,429
Xl 7,000,000
< 900,000

403 X SHHE A0l & 7,900,000 1,128,571 6,771,429
Xl 7,000,000
< 900,000

01 AXISHHA=2E = 7,900,000 1,128,571 6,771,429
Ost=22stH0to (s ) (ANESY) 7,900,000
X 7,000,000
< 900,000

St 2StHIotI A (G =) 11,285,714 3,385,714 7,900,000
Xl 10,000,000
< 1,285,714

403 A X EHHS =0l A 11,285,714 3,385,714 7,900,000
Xl 10,000,000
< 1,285,714

01 X EHHMA=ZLE L 11,285,714 3,385,714 7,900,000
Ost=22stH0 A (L F)(NEEY) 11,285,714
Xl 10,000,000
< 1,285,714

SMEFANUEE(2Y) 361,143 24,303,785 £23,942,642
X 320,000
S 41,143

403 XA SA=0l& 361,143 24,303,785 A 23,942,642
X 320,000
< 41,143

01 HXSHMA=E X 361,143 24,303,785 N 23,942,642
O=MISMMHAE(RH)(NSESY) 361,143
Xl 320,000
= 41,143

SMESHAMYUE (KR ) 11,285,714 11,962,857 AB77,143
Xl 10,000,000
=) 1,285,714

403 MtXISHHE X201 E 11,285,714 11,962,857 AB77,143
Xl 10,000,000
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= 1,285,714

01 XIS A=Z2E X 11,285,714 11,962,857 ANBT77,143
OJsMISIAMUE (HA)(XNESL) 11,285,714
Xl 10,000,000
o= 1,285,714

MSIHEIHELEXIH(EA) 2,316,957 0 2,316,957
N 2,053,000
= 263,957

403 XX SRS R 20| & 2,316,957 0 2,316,957
N 2,053,000
& 263,957

01 MHXSHAHXNE2E X 2,316,957 0 2,316,957
NS HEZHELE (A )(NES D) 2,316,957
Xl 2,053,000
= 263,957

A2 ERIHIGHY (K] & 2) 2,285,357 0 2,285,357
Xl 2,025,000
& 260,357

403 XX SHHS K20 & 2,285,357 0 2,285,357
Xl 2,025,000
& 260,357

01 IS A2 X 2,285,357 0 2,285,357
OActSstE e HI S22 (NES ) 2,285,357
N 2,025,000
=} 260,357

ZEXNAANZE(RAEE) 7,614,471 0 7,614,471
N 6,747,000
& 867,471

403 LtXISHA S X201 & 7,614,471 0 7,614,471
Xl 6,747,000
& 867,471

01 XIS A =2E X 7,614,471 0 7,614,471
OZFHXNGAZRE(NESY) 7,614,471
Xl 6,747,000
= 867,471

SO FEHFCHA(NEMet-AA) 3,324,771 0 3,324,771
N 2,946,000
o= 378,771

403 XX S M S K201 & 3,324,771 0 3,324,771
Xl 2,946,000
=} 378,771

01 AIXISHHMA2E X 3,324,771 0 3,324,771
OS9&Fe(IdAH)(NESY) 3,324,771
N 2,946,000
& 378,771




A=
o DRNANLS
e IH2S3 ALY (2 &HH)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
SOIEFC (XY H-AHA) 1,580,000 0 1,580,000
Xl 1,400,000
& 180,000
403 XX SHHS K201 & 1,580,000 0 1,580,000
Xl 1,400,000
= 180,000
01 XIS AS2E X 1,580,000 0 1,580,000
Oso&EF2d(B)(NESY) 1,580,000
Xl 1,400,000
=} 180,000
QB2 AKX S (X & & 2F) 4,092,200 0 4,092,200
N 3,626,000
& 466,200
403 XX SHHS K20 & 4,092,200 0 4,092,200
Xl 3,626,000
& 466,200
01 XIS A2E X 4,092,200 0 4,092,200
OdetEA9ARS(ANESY) 4,092,200
Xl 3,626,000
o= 466,200
ELEISHPPSIERES 3,047,143 0 3,047,143
Xl 2,700,000
=} 347,143
403 Tt SH S K20l & 3,047,143 0 3,047,143
N 2,700,000
= 347,143
01 IS A2E X 3,047,143 0 3,047,143
SSeLEEBMHA(RNESY) 3,047,143
N 2,700,000
& 347,143
SHESHUMANRSI AL (XS 1,128,571 0 1,128,571
Xl 1,000,000
= 128,571
403 XX SHHS K20 & 1,128,571 0 1,128,571
Xl 1,000,000
& 128,571
01 AIXISHHMA2E X 1,128,571 0 1,128,571
OYSHUANLHALL(NSSY) 1,128,571
Xl 1,000,000
& 128,571
2L I2AS(NAZY) 1,374,600 0 1,374,600
N 1,218,000
& 156,600
403 XX SRS K 20| & 1,374,600 0 1,374,600
Xl 1,218,000
& 156,600
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AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2

01 XIS A2 X 1,374,600 1,374,600
O2s02eS(NESY) 1,374,600
Xl 1,218,000
o= 156,600

NS SHX(RILEE) 7,561,429 7,561,429
N 6,700,000
& 861,429

403 XX SHHS K20 & 7,561,429 7,561,429
N 6,700,000
& 861,429

01 MXSHHXNE2E =X 7,561,429 7,561,429
OJASRSIHI(RNESY) 7,561,429
Xl 6,700,000
& 861,429

2Axel2atd 2 (X HHe) 3,325,900 3,325,900
Xl 2,947,000
o= 378,900

403 XX SHHM S X201 & 3,325,900 3,325,900
N 2,947,000
o= 378,900

01 XS A=2E X 3,325,900 3,325,900
O Xel2sF 2 (RNE=Y) 3,325,900
N 2,947,000
= 378,900

SHE255e (KA 6,771,429 6,771,429
Xl 6,000,000
& 771,429

403 XX SHHS K20 & 6,771,429 6,771,429
Xl 6,000,000
o=t 771,429

01 XIS A=Z2E X 6,771,429 6,771,429
OFds2s5el(NESY) 6,771,429
N 6,000,000
& 771,429

ME=2otEEH(XHEME) 7,900,000 7,900,000
Xl 7,000,000
= 900,000

403 XX SRS K20 & 7,900,000 7,900,000
N 7,000,000
= 900,000

01 AXESHHEE X 7,900,000 7,900,000
ONESRSISEH(RESY) 7,900,000
Xl 7,000,000
& 900,000

HRZAOIOFI | =L (KI S & &) 1,128,571 1,128,571




A3 23BBYS SN BBIED
Hu: BENANLHE
9l 3SR MY CERED
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
Al 1,000,000
= 128,571
403 X SHHS =0l & 1,128,571 0 1,128,571
X 1,000,000
= 128,571
01 XM A2E X 1,128,571 0 1,128,571
OARZA0IOII=URHAES L) 1,128,571
Xl 1,000,000
< 128,571
BHEdHIAZS (XA ) 3,103,571 0 3,103,571
Xl 2,750,000
< 353,571
403 XIS S X201 & 3,103,571 0 3,103,571
Xl 2,750,000
< 353,571
01 AXSHMA2E = 3,103,571 0 3,103,571
OEHELA NI A 2L (ANSEY) 3,103,571
Xl 2,750,000
< 353,571
SoHot=MAHo A (XN 2) 1,803,457 0 1,803,457
Xl 1,598,000
< 205,457
403 Mt SHHSA=0l& 1,803,457 0 1,803,457
Xl 1,598,000
< 205,457
01 XM A=E X 1,803,457 0 1,803,457
(JSHO =Mt (Y ) (RNSSY) 1,803,457
Xl 1,598,000
< 205,457
2ZOHAE M 10,412,966 10,582,503 A 169,537
Xl 136,000
J| 878,000
< 9,398,966
SZ0ANEL=MAR 2,305,300 2,032,300 273,000
J| 878,000
< 1,427,300
22BN 1,668,000 1,296,000 372,000
J| 834,000
< 834,000
308 XX EHH SOl A 1,668,000 1,296,000 372,000
J| 834,000
< 834,000
01 HIXNHHBNEES 1,668,000 1,296,000 372,000
O=st2Z=HA 2 1,668,000
J| 834,000
< 834,000
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100
4
0

=

= A

il

<

n0

Kio

Hl w

A 330,537

A570,000

390,000
A290,000

A 100,000

A 180,000
180,000

14,000

H3r
Wikd
RIS

13,500

4,683,603

660,000
660,000
660,000
300,000
20,000
20,000

280,000
280,000

20,000
20,000

1,140,000

850,000
500,000

350,000

270,000
270,000

456,750

Off &t 24

13,500
13,500

4,353,066

136,000
4,217,066

Xl

660,000
660,000
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03 QIAHMNHE2IHIEE 821,000 489,000 332,000
OEHMY =229 X & 821,000
M EH XA 129,000 159,000 230,000
307 21201 A 129,000 159,000 230,000
02 B AAFEX 129,000 159,000 30,000
OO0t MESUa & A& 39,000
OMdg2=MEMo0tetEUs =t X A 18,000
O XNME MU EIHXA 27,000
OSSO0 = X & 45,000
SRR IUHAENE K 147,000 147,000 0
J| 19,000
= 128,000
307 glz2+ol & 147,000 147,000 0
J| 19,000
< 128,000
02 IZtE A AHEE 147,000 147,000 0
OSHHAMEMSOUMHAINE X 147,000
J| 19,000
< 128,000




AT RHBBASE SN HSHED
M HESSEA4EE
S HHAHMS XA (&)
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
SHO QM2 = Xl & KK X 348,504 268,100 80,404
J| 174,252
< 174,252
307 gl2tol & 348,504 268,100 80,404
J| 174,252
< 174,252
02 It HAHE L 348,504 268,100 80,404
OSXO0Hol A8 & 1l = XI & AHBH X 348,504
J| 174,252
< 174,252
Al & 01 o1 M & Xl = XI = XHEH X 174,252 104,559 69,693
J| 134,040
< 40,212
308 XXM SO A 174,252 104,559 69,693
J| 134,040
< 40,212
01 IXNHHBANEES 174,252 104,559 69,693
A2 & 0f o 8 2 Ml = Xl &= AHBH X 174,252
J| 134,040
< 40,212
ZHE22ZH X2 122,490 122,500 A10
308 XX EHH SOl A 122,490 122,500 A10
01 X HHILEES 122,490 122,500 A 10
DXL ME22SH X 122,490
FHAHNET2SEIIRSLEANE 120,000 120,000 0
308 A EHHSOIA 120,000 120,000 0
01 HXNHHNBHELS 120,000 120,000 0
OZEEOCIHHECIHE SH X 120,000
ZHAMESHRFA 8,130 8,130 0
201 L4l 2,330 2,330 0
01 At 22l 2,330 2,330 0
Oger==&H| 2,330
OASZMANSHAMEESMNES 2,330
202 O4dl 5,800 5,800 0
01 = LH 4 Hi 5,800 5,800 0
OFMHMS2LESERFE A 5,800
HEAMEgAEZas - 24 30,474,715 22,578,715 7,896,000
Xl 7,939,000
J| 9,801,000
= 12,734,715
MEIASANLXA 11,651,000 17,941,000 26,290,000
Xl 7,939,000




A= 22AFHEZ 2A  HsAED
Bu: fSScoaFe
S MFAMEAXNZHES - B2 (2 &HH)
CEA BB (BH) - MRAY - B Ol &F o4 ﬁlf& HD=2
== 3,712,000
403 XX S M S X201 A 11,651,000 17,941,000 A 6,290,000
Xl 7,939,000
= 3,712,000
01 MXHAMAHEBE = 11,651,000 17,941,000 A 6,290,000
OFZTSHMEHS2IXZLE(XNEZH]) 350,000
Xl 200,000
o= 150,000
OS2 AZIMMEAE (KNEZH|) 350,000
N 200,000
== 150,000
OASIH L AZEZEA 22 ZAHXESH]) 102,000
Xl 60,000
o= 42,000
OZEMNS2AU2E2AIRTNESLERNZAHKNES
dl) 663,000
Xl 390,000
o= 273,000
OSSN SALHSSAL(XNETH]) 510,000
Xl 300,000
[ 210,000
[(IZ2SLE=ERAHAXTXMOEZLE(NEZH]) 485,000
N 285,000
o= 200,000
OJFAMAIRSHAHAEE=(XETH]) 1,670,000
Xl 1,170,000
== 500,000
O2/AZSE2STH A (NEZH]) 1,159,000
Xl 900,000
o= 259,000
OZ2RSHEHAEZXHMHHE (NESH|) 500,000
Xl 400,000
== 100,000
920 HULAXEEY (KNESZH]) 331,000
N 195,000
o= 136,000
OFSHOIEESEHFMASAIELIN(NEZH]) 510,000
Xl 300,000
= 210,000
OJHAZNCTHSTHHE (NS TH]) 1,060,000
Xl 700,000
o= 360,000
OZFUHAHSP2EIHI(XNE =) 750,000
Xl 450,000
= 300,000
OOMHASZ2IER2EFZHUAIE (XAETH]) 306,000
Xl 180,000
== 126,000
ODEHUAZSEHUIAZE (XIS EH]) 255,000




D2 AEHE=R
gl:

A=
Bu: fSScoaFe
Sol HSANLATNEHAS - 22 EEREED
2 - 4
2. 2A B GR(E) - KR 0l &t o8 il HlnE2
Al 150,000
< 105,000
O&8=(g8)NR2Ms2 170,000
Xl 100,000
= 70,000
O9sZmas=Edx 700,000
Xl 600,000
< 100,000
OF3AATI IS E 347,000
X 204,000
= 143,000
Oetssselx 350,000
Xl 350,000
Dggd=x=ssies 350,000
Xl 350,000
O &S S HMS Al 300,000
Xl 200,000
= 100,000
OS24 (X 433,000
Xl 255,000
< 178,000
SOMBANENE S 4,000,000 4,000,000 0
403 XIS E X201 & 4,000,000 4,000,000 0
01 XM A=2E X 4,000,000 4,000,000 0
L H562 2= 2 2,000,000
OM572 2= M 2,000,000
ANZHMSALES 2,015,000 630,000 1,385,000
403 Mt SHHSA=0l& 2,015,000 630,000 1,385,000
01 HXHMA=LE X 2,015,000 630,000 1,385,000
OAZHMSAEeS 2,015,000
HEALERF2 7,715 7,715 0
201 LBt 1,915 1,915 0
01 At 22l 1,915 1,915 0
O3l 1,915
OAEHSAL BB RS 1,915
202 O4dl 5,800 5,800 0
01 2LHOI ] 5,800 5,800 0
OMSAEdeEsLE2 = 5,800
HdIMAEAEHE 12,801,000 0 12,801,000
| 9,801,000
< 3,000,000
403 XSS AE201 & 12,801,000 0 12,801,000
| 9,801,000
< 3,000,000
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